
4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [P203 1/2" 2-Speed 18 Volt Cordless Drill-Driver]/[General Assembly]_______________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=291&s… 1/2



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [P203 1/2" 2-Speed 18 Volt Cordless Drill-Driver]/[General Assembly]_______________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=291&s… 2/2

 Ref # Part # Description Qty Context Note Foot Note

1 6613402 SCREW (M6 x 1.0 x 27 mm) 1 (Purchase locally)  

2 690033084 CHUCK (1/2 in.) 1   

3 660203059 SCREW (M3 x 20 mm) 4 (Purchase locally)  

4 641481001 MOUNTING PLATE HOLDER 1   

5 630207005 SPRING PLATE 2   

6 302204001 CLUTCH CAP ASSEMBLY 1   

7 511333001 SLEEVE 1   

8 6872401 TORQUE CONTROL SPRING 1   

9 690011003 WASHER RING (39.5 x 30.5 x 0.15 mm) 1   

 671532001 WASHER RING (39.5 x 29.5 x 0.2 mm) 1   

 690011002 WASHER RING (39.5 x 30.5 x 0.3 mm 2   

10 672025001 WASHER 1   

11 680338023 PIN 6   

12 6721901 BALL (0 5.0 mm) 6   

13 200493002 HOUSING ASSEMBLY 1   

14 940114178 LOGO LABEL 1   

15 940045142 DATA LABEL 1   

16 343319001 FORWARD/REVERSE SELECTOR 1   

17 343318001 2-SPEED CHANGE KNOB 1   

18 3000909 TOP LEVER ASSEMBLY 1   

19 660031011 SCREW (M3.5 x 16 mm) 10 (Purchase locally)  

20 210013156 MOTOR & GEAR TRAIN ASSEMBLY 1   

21 270001342 SWITCH ASSEMBLY 1   

22 560444002 FOAM RUBBER 2   

23 300823003 MAGNET 1   

24 6320601 BIT CLIP 1   

25 6782045 DOUBLE BIT 1   

 987000174 OPERATOR'S MANUAL    


